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Definition des Skalarprodukts (Raum):
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Definition des Skalarprodukts (Raum):
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Definition des Skalarprodukts (Raum):

dai bl
a || ba| = aibi+ axby + a3b3
as b3
Beispiel:
1 0
-3 41 =1-0
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Definition des Skalarprodukts (Raum):
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a || ba| = aibi+ axby + a3b3
as b3
Beispiel:
1 0
-3|-[4] =1-0+(-3)-44+2-6 =
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Definition des Skalarprodukts (Raum):

dai bl
a || ba| = aibi+ axby + a3b3
as b3
Beispiel:
1 0
-31-14] =1-0+(-3)-4+2:6 =0
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Definition des Skalarprodukts (Raum):

dai bl
a || ba| = aibi+ axby + a3b3
as b3
Beispiel:
1 0
-31-14] =1-0+(-3)-4+2:6 =0
2 6

Die Vektoren stehen senkrecht aufeinander.
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Definition des Skalarprodukts (Raum):

y4
a by 5
a || ba| = aibi+ axby + a3b3
as bs 4+
3A
Beispiel:
p 5.
1 0
3|14 =1-0+(-3)-4+2:6 =0 14
2 6

Die Vektoren stehen senkrecht aufeinander.



